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QA1

Ans

A confectioner sells the milk after mixing some water in it at the same rate at which he bought. If he gains 30% in this
way, what is the quantity of water mixed with per litre of milk?

X 1. 2.5 litre
< 2. 3 litre
< 3.0.25 litre
W 4 0.30 litre

Question ID : 99836725963
Status : Answered
Chosen Option : 4

Q.2

Read the information carefully and answer the question given below:

Following are the criteria for selection a marketing officer by a Car manufacturing Company.

The candidate must:

(i) bea graduate with minimum 55% marks.

(ii) have secured at least 50% marks in the selection test.

(iii) no to be less than 24 years and not to more than 30 years of age as on 10.12.2016
(iv) should have work experience of at least one vear as a marketing officer.

However, if a candidate:

A. Fulfills all other criteria except at (iv) above, but has a diploma in marketing management, his/her case is to be
referred to G.M., Marketing.

B. Fulfills all other criteria except at (iii) above, but has worked a s marketing officer at least for 3 years, his/her case is
to be referred to Director, Marketing.

Based on the above criteria except and the information given in the following question, you have to take the decision in
regard. You are not assuming anything. These cases are given to you as on 10.12.2016.

Ans J 1. 4

X202

X3 1

K43

Question ID : 99836725962
Status : Answered
Chosen Option : 1

Q.3 A father tells his daughter, “I was of your present age when vou were born™. If the father is 46 now, how old was the

Ans

girl 4 years back?

o 1. 19 years
/X 2. 22 years
75 3. 21 years

75 4. 18 years
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Question ID : 99836725958
Status : Answered
Chosen Option : 3

Q.4

Read the following information and answer the question given below it:

X+ Y means ‘X is the father of Y’
X *Y'means ‘X is the wife of ¥
‘X % Y means ‘X is the daughter of Y7;

If A% B + C + D, then which of the following is true?

< 1. Dis the aunt of A
« 2 Ais the aunt of D
< 3. Ais the sister of D
< 4 Ais the mother of D

Question ID : 99836725965
Status : Answered
Chosen Option : 2

Q.5

Ans

You are given two statements and two conclusions. Choose the comment about conclusion from the given options
below:

Statements:
All women are roses.

All roses are petals.

Conclusions:
I. All women are petals.
1L All petals are women.

7< 1. Only conclusion II follows

7% 2. Neither I nor II follows
/< 3. Either I or II follows
« 4 Only conclusion I follows

Question ID : 99836725959
Status : Answered
Chosen Option : 1

Q.6

Ans

Choose the following pair which is different from others.
#< 1. Sack : Jute

/< 2. Paper : Pulp

#< 3. Butter : Milk

v 4 Seed: Oil

Question ID : 99836725956
Status : Answered
Chosen Option : 4

Q.7

From the following figures choose that figure which is different from the other:

L 2 3 4

© A &
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Chosen Option : 1

Question ID : 99836725957
Status : Answered

Q.8 You are given a statement and four arguments. Choose the comment about arguments from the given options below:

Statement:

Should class VI students have board examination?

Arguments:

L Yes. This will motivate the students to study and get higher marks. and thus more knowledge can be imbibed at a
younger age.

II. No. The students will be forced to study and won’t enjoy the process.

III. Yes. In today’s competitive world the students need to be prepared right from the beginning to face such difficult
examinations.

IV. No. This will add pressure on tender aged students and leave very little time for them to play.

Ans o 1. Only arguments II, III and IV are strong

/< 2. Only arguments I, IT and IV are strong

/< 3. Only arguments I and III are strong

/< 4. Only arguments I and I'V are strong

Question ID : 99836725960
Status : Answered
Chosen Option : 3

Q.9 The value of a product depreciates at the rate of 10% per annum. If its present value is ¥ 1,50,000, what will be its

Ans

worth after 3 years?
2 1% 1,09,250
X 2.3 1,10,000
W 3.2 1,09,350
< 4.T1,15.500

Question ID : 99836725964
Status : Answered
Chosen Option : 4

Q.10 Pand Q are sisters. P is the mother of S. Q has a daughter R who is married to T. U is the husband of P. How is Q

related to T?

Ans 1. Daughter

v 2. Mother-in-law

#< 3. Sister

#< 4. Mother

Question ID : 99836725966
Status : Answered
Chosen Option : 1

Q.11 Choose the correct alternatives from the following options for the Assertion (A) and Reason (R) given below:

Assertion (A):
Earthworm is not good for agriculture.

Reason (R):
Earthworms break down the soil into fine particles and make it soft.
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r R0

Both (A) and (R) are true and (R) is not the correct explanation of (A)
25 2. (A) is true but (R) is false

5 3.
Both (A) and (R) are true and (R) is the correct explanation of (A)

o 4 (A) is false but (R) is true

Question ID : 99836725961
Status : Answered
Chosen Option : 4

Q.12 Out of the four given alternatives, choose the most appropriate description about the given three words:

Ammeter : Anemometer : Taseometer

Ans X 1. These are terms related with wind
« 2. These are instruments used for measurement.
/< 3. These are terms related with machines

7% 4. These are terms units of measurement

Question ID : 99836725955
Status : Answered
Chosen Option : 2

Q.13 The first bunch of bananas has 14 excess to as many as grapes in the second bunch. If the second bunch has 5 less than
the first bunch then what is the number of bananas in the first bunch?

Ans ?(1_ 23
<2 28
V3 25
X4 24

Question ID : 99836725967
Status : Answered
Chosen Option : 4

Q14 Find the wrong term from the following series:

2,3:5, 71,43, 17,19, 21,29, 31

Ans X 1. 31

X2 7

X311

W 4 21

Question ID : 99836725968
Status : Answered
Chosen Option : 4

Q.15

‘Hare’ is related to ‘Burrow’, in the same way as ‘King’ is related to

Ans  of 1. Palace
X 2. Queen
#< 3. House
< 4 Soldier
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Question ID : 99836725954
Status : Answered
Chosen Option : 1

Section : General Awareness
Q.1 In 1994, government gave the rights for fishing inthe  to private contractors.
Ans 1. Himayat Sagar reservoir

/< 2. Aliyar reservoir

v 3. Tawa reservoir

/< 4. Nizam Sagar reservoir

Question ID : 99836725979
Status : Answered
Chosen Option : 2

Q.2 Which of the following countries held the presidency of the United Nations Security Couneil (UNSC) for the month of
May 20197

Ans  of 1. Indonesia
/X 2. Germany
/< 3. France
X 4 Kuwait

Question ID : 99836725975
Status : Answered
Chosen Option : 2

Q3 Which of the following is the longest Highway of India after 2018?
Ans x 1. NH6

X2 NHS

X 3. NH27

v 4 NH 44

Question ID : 99836725981
Status : Answered
Chosen Option : 2

Q4 How many main parts (body sections) does an insect’s body have?
Ans 1. Five

< 2. Four

< 3 Six

« 4 Three

Question ID : 99836725973
Status : Answered
Chosen Option : 3

Q5 “prime Minister’s Rozgar Yojna™ was started in which vear?

Ans X' 1. 1966
X 2. 1980
< 3. 1990
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W 4. 1993

Question ID : 99836725983
Status : Answered
Chosen Option : 4

Q.6 What is the High-speed Expendable Aerial Target (HEAT) drone called which was tested from Interim Test Range (ITR)
in Odisha’s Chandipur conducted by The Defence Research and Development Organization (DRDO) on May 14, 20197

Ans X 1. KOSHISH
< 2. PRAYAS
v 5 ABHYAS
#< 4 PRAYATN

Question ID : 99836725974
Status : Answered
Chosen Option : 2

Q7 The solid portion of the earth on which we live is called the
Ans o 1. Lithosphere

/< 2. Biosphere

/< 3. Troposphere

7% 4. Ecosphere

Question ID : 99836725976
Status : Answered
Chosen Option : 1

Q8  Where is the famous Gharapuri island, known for its cave temples, located?

Ans 1, Lakshadweep islands

/< 2. Daman & Diu
7% 3. Off Silvassa coast
v 4 Off Mumbai coast

Question ID : 99836725971
Status : Answered
Chosen Option : 2

Q.9 Which article of the Constitution of India addresses the topic of ‘Formation of new States and alteration of areas,

boundaries or names of existing States™?

Ans X 1. Article 4
W 2 Article 3
< 3. Article 2
< 4 Article 1

Question ID : 99836725969
Status : Answered
Chosen Option : 2

@10 Which of the following is not an example of Rock-cut cave?

Ans X1_ Bﬂgh
/< 2. Ajanta
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/< 3. Ellora
+ 4 Konark

Question ID : 99836725980
Status : Answered
Chosen Option : 4

Q.11 Which one of the following tropical cyclones wreaked havoc in Orissa in April-May 20197

Ans % 1. Cyclone Ockhi
« 2. Cyclone Fani
/< 3. Cyclone Lorni
/< 4. Cyclone Mona

Question ID : 99836725972
Status : Answered
Chosen Option : 2

@12 WWhich of the following Tribe lives in New Zealand?
Ans X 1. Semangs

v 2. Maoris

/< 3. Masai

/< 4. Zulus

Question ID : 99836725982
Status : Answered
Chosen Option : 2

Q.13 Who among the following won a gold medal in the 65-kg category at the Ali Aliev invitational tournament in Dagestan,

Russia in May 2019?

Ans X' 1. Pawan Kumar
7< 2. Susheel Kumar
7% 3. Yogeshwar Dutt

+ 4 Bajrang Punia

Question ID : 99836725970
Status : Answered
Chosen Option : 2

Q.14 1In 1817, James Mill, a Scottish economist and political philosopher, published a massive three-volume work, ‘A History

of British India’. In this he divided Indian history into three periods — Hindu. Muslim and
Ans X 1. Shikhist
v 2. British
7< 3. Jainist
7< 4. Buddhist

Question ID : 99836725978
Status : Answered
Chosen Option : 2

Q.15 What is the name of a routine climate pattern that occurs when sea surface temperatures in the tropical Pacific Ocean

rise to above normal levels for an extended period of time?

Ans X 1. El Atmésfera
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7% 2. El Oscilaciones
+ 3. El Nino
/< 4 LaNina

Question ID : 99836725977
Status : Answered
Chosen Option : 3

Section : Teaching Aptitude

Q1 What is already established as a serious alternative to the standard classroom teaching?

Ans < 1. One-on-one coaching

/< 2. E-learning
+ 3. Distance education
/< 4 Home tutoring

Question ID : 99836725994
Status : Answered
Chosen Option : 2

Q.2 Which of the following was introduced in schools in National Policy on Education (NPE) 19867
Ans x 1. Art

v 2. Yoga

#< 3. Genetics

#< 4. Robotics

Question ID : 99836725988
Status : Answered
Chosen Option : 2

Q3 1n a discovery learning process. students perceive themselves as
Ans  of 1. scientists

#< 2. teachers

#< 3. discoverers

#< 4. facilitators

Question ID : 99836725997
Status : Answered
Chosen Option : 3

Q.4 During the pre-independent period in India, the spread of women education first started in
Ans X 1. coastal areas

< 2 rural areas

v 3. cities

#< 4. tribal areas

Question ID : 99836725989
Status : Answered
Chosen Option : 3

Q5 What percentage of Indian population knows two or more languages?
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Ans x1_ 30%
< 2. 40%
< 3. 10%
v 4 20%

Question ID : 99836725995
Status : Answered
Chosen Option : 4

Q.6 The foremost of Indians who believed that “India must assimilate western knowledge for her own regeneration™ was/is:

Ans 1. Mahatma Gandhi
+ 2. Raja Ram Mohan Roy

/< 3. Rabindranath Tagore
# 4 Jiddu Krishnamurthi

Question ID : 99836725987
Status : Answered
Chosen Option : 3

Q.7 _ areanexample of local material that can be used to teach students about the environment.
Ans  of 1. Artifacts

#< 2. Cartoons

#< 3. Tables

#< 4. Textbooks

Question ID : 99836726000
Status : Answered
Chosen Option : 2

Q8 wWhat is inclusive language?

Ans x1_

A medium of instruction combined with the learner’s mother tongue

v 2

A language that is simple and uses words from both, the rural and urban areas

7< 3. All dialects of the learners combined

r

A mix of different langnages of learners used by teachers in a classroom

Question ID : 99836725996
Status : Answered
Chosen Option : 2

Q9 The focus of social science teaching and learning is NOT to

Ans 1. understand life
« 2. understand self

/< 3. understand social challenges

/< 4 understand social dimensions of life

Question ID : 99836725998
Status : Answered
Chosen Option : 2
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Q.10

will easily yield material for classroom theatre.

Ans  of 1. Stories
/< 2. Biographies
< 3. Poems
< 4. Grammar
Question ID : 99836726002
Status : Answered
Chosen Option : 4
: ich of the following is a quality-related issue in pre-schools®
Q11 Which of the foll NOT lity-related hools?
Ans X 1. Lack of trained educators
/< 2. Ineffective pedagogy
« 3. Lack of parental support
/< 4. Inappropriate curriculum
Question ID : 99836725990
Status : Answered
Chosen Option : 3
Q.12 If one wants to learn swimming, one has to practice it in a pond, river or a swimming pool. One cannot just learn
swimming by studying its rules from a book. This is true for any kind of acquisition.
Ans  of 1. skill
7% 2. understanding
7% 3. knowledge
< 4. attitude
Question ID : 99836725991
Status : Answered
Chosen Option : 3
Q.13 When are taught a science lesson on environmental sustainability, it will make a relatively higher impact on
them when such a lesson is taught outdoors.
Ans 1. secondary students
« 2. primary students
/< 3. students at university level
#< 4. adult learners
Question ID : 99836725992
Status : Answered
Chosen Option : 2
Q.14 Ina primary school, out of four hours in an instructional day for voung children, how much time does NCERT
recommend allotting for independent reading?
Ans

< 1. 60 minutes
v 2. 30 minutes
< 3. 45 minutes
< 4. 20 minutes

Question ID : 99836725993


https://aview.in/
https://aview.in/category/previous-papers/

Status : Answered
Chosen Option : 2

Q.15 Children over the age of

Ans J1_ ]

x26
.5
-7

are able to learn about other, more distant people.

Question ID : 99836725985
Status : Answered
Chosen Option : 2

Q.16 According to National Curriculum Framework (NCF) 2003, students must be introduced to the basic traits of dance by

Ans

/< 1. primary stage

/< 2. higher secondary stage
« 3. upper primary stage
/< 4. secondary stage

Question ID : 99836726003
Status : Answered
Chosen Option : 4

Q.17 Unfamiliar educational pedagogies and curriculum content may confront students with the thought of loss and

Ans  of 1. alienation
5 2. envy

#< 3. confidence

/5 4. courage

Question ID : 99836726001
Status : Answered
Chosen Option : 3

Q.18 Science should be introduced as a discipline without emphasis on formal rigor at
/< 1. primary stage
/< 2. higher secondary stage

Ans

« 3. upper primary stage
/< 4. secondary stage

Question ID : 99836725999
Status : Answered
Chosen Option : 3

Q.19 The development of friendship and participation in a peer group increases during the age of

Ans o 1. 6— 12 years
/< 2. 12— 18 years
/X 3. 2 —6 years
/X 4. 18 — 25 years

[ Question ID : 99836725986
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Status : Answered
Chosen Option : 2

Q.20 Children who cannot relate to the content or tasks required of them in a formal structure are likely to feel

Ans  of 1. incompetent

< 2. omitted
/< 3. ignored
< 4 left out

Question ID : 99836725984
Status : Answered
Chosen Option : 3

Section : Subject Knowledge

Q.1 was the God in Greek mythology known for music and poetry.
Ans X 1. Artemis

W 2. Apolio

X 3. Neptune

x 4. Muses

Question ID : 99836726030
Status : Answered
Chosen Option : 2

Q.2 is an Indian poet and short story writer in the English language who is also a
former IPS officer and was awarded the Sahitya Akademi Award, in 1984.

Ans X" 1. Upamanyu Chatterjee
J 2. K. N. Daruwala
/% 3. Bhabani Bhattacharya

x 4. Ashwin Sanghi

Question ID : 99836726075
Status : Answered
Chosen Option : 2

Q.3 ‘Hamlet’ by Shakespeare is set in which of the following countries?
Ans X" 1. Poland

J 2. Denmark
/5 3. Albania
X 4. Greece

Question ID : 99836726063
Status : Answered
Chosen Option : 2

Q.4 Quartos and Folios are terms associated with
Ans x 1. criticism

x 2. performance

“ 3. printing and publication

X 4. writing

Question ID : 99836726049
Status : Answered
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l

Chosen Option : 2

Q.5
Ans

one-legged man was the central character in the horror movie.

o 1A
75 2. The
75 3.An
/< 4. That

Question ID : 99836726080
Status : Answered
Chosen Option : 1

Q.6 Choose the correct active voice for the sentence given below.

Ans

Invitees will be given a coupon by the organising committee.

X 1. Organising committee will give a coupon to invitees.
X 2. The organising committee would give a coupon to invitees.
J 3. The organising committee will give a coupon to invitees.

X 4. The organising committee will be giving a coupon to invitees.

Question ID : 99836726095
Status : Answered
Chosen Option : 2

Q.7

Ans

“Beauty is truth, truth beauty”, are the famous poetic lines by John Keats in his poem

J 1. Ode on a Grecian Urn
X 2. Ode to Autumn

X 3. To Diana

75 4. Ode to Apollo

Question ID : 99836726028
Status : Answered
Chosen Option : 2

Q.8 The medieval period in English literature is from the

Ans

X 1. 6th to the 10th century
#% 2. 5th to the 10th century
X 3. 6th to the 15th century

J 4. 5th to the 15th century

Question ID : 99836726031
Status : Answered
Chosen Option : 1

Q.9 “Thou still unravish’d bride of quietness!
Thou foster-child of silence and slow time,
Sylvan historian, who canst thus express

A flowery tale more sweetly than our rhyme.”

Ans

These famous lines are from which of the following poems by John Keats?

#5 1.0de to a Nightingale

/X 2. Isabella

X 3. Ode to Psyche

J 4. Ode on a Grecian Urn
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Question ID : 99836726033
Status : Answered
Chosen Option : 1

Q.10 Fill in the appropriate modals/modal auxiliaries in the following sentences.

He working since 9 o’clock in the morning.
Ans X" 1. have been

J 2. has been
X 3. would
X 4. should

Question ID : 99836726088
Status : Answered
Chosen Option : 2

Q.11 The poem ‘The Masque of Anarchy’ is written by which of the following poets?
Ans  of 1. P B Shelly

X 2. Alexander Pope
X 3. Shakespeare

X 4. Andrew Marvel

Question ID : 99836726019
Status : Answered
Chosen Option : 2

Q.12 ‘A Farewell to Arms’ by Earnest Hemingway is chiefly a story about ina
realistic way.

Ans  off 1 warandlove

X 2. conspiracy
X 3. conflict between man and arms

X 4. friendship of army men

Question ID : 99836726058
Status : Answered
Chosen Option : 3

Q.13 Fill in the blanks with appropriate subordinating conjunctions to complete the
sentences.

your work you may go home.

Ans X" 1. Now you have finished
X 2. As you have finished
J 3. When you have finished

X 4. Before you have finished

Question ID : 99836726084
Status : Answered
Chosen Option : 2

Q.14 Which of the following was the first public playhouse built in London in 15767
Ans " 1. The Rose

75 2. The Curtain
/< 3. The First Globe

of 4. The Theatre
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Question ID : 99836726048
Status : Answered
Chosen Option : 2

Q.15 ‘The Child is Father of the Man’ is a quote from a poem by which of the following

poets?
Ans " 1. Geoffrey Chaucer

of 2. william Wordsworth
#5 3. Sylvia Plath

x 4. Robert Browning

Question ID : 99836726014
Status : Answered
Chosen Option : 2

Q.16 ‘Uriah Heep’, one of the major antagonists in the novel ‘David Copperfield’ was created

by .
Ans J 1. Charles Dickens

#% 2. Rudyard Kipling

x 3. Doris Lessing

x 4. George Orwell

Question ID : 99836726055
Status : Answered
Chosen Option : 2

Q.17 “Like a high-born maiden
In a palace-tower,

Soothing her love-laden soul in secret hour
With music sweet as love, which overflows her bower.”

These lines describe
Ans ( 1. the skylark

x 2. God

x 3. the moon

x 4. the sun

Question ID : 99836726024
Status : Answered
Chosen Option : 3

Q.18 It was Thomas Wyatt and Henry Howard who introduced

half of the 16th century.
Ans X" 1 elegies

x 2. epics
75 3. ballads
( 4. sonnets

to England, in the first

Question ID : 99836726036
Status : Answered
Chosen Option : 1

Q.19 Charles Dickens narrates incidents about treatment of children in the 19th century,

orphans, women and exploitation with an autobiographical touch in which of the

following novels?

Ans  of 1.David Copperfield

#5 2. Hard Times
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x 3. Great Expectations

x 4. Oliver Twist

Question ID : 99836726054
Status : Answered
Chosen Option : 2

Q.20 “Alone, alone, all, all alone,
Alone on a wide wide seal!
And never a saint took pity on
My soul in agony.”

These famous lines by Coleridge are from his poem

Ans ( 1. The Rime of the Ancient Mariner
#5 2. Frost at Midnight
#5 3. Kubla Khan

#% 4. Christabel

Question ID : 99836726006
Status : Answered
Chosen Option : 1

Q.21 Hedda Gabler Tessman, a female character in ‘Hedda Gabler’, a drama on social
criticism was penned by

Ans 3" 1. James Cooper
75 2. Emily Dickinson
< 3. Wiliam Faulkner

of 4. Henrik Ibsen

Question ID : 99836726064
Status : Answered
Chosen Option : 2

Q.22 | like to play .

75 1. afootball

75 2. the football

Ans

x 3. footballs

o 4. football

Question ID : 99836726079
Status : Answered
Chosen Option : 4

Q.23 The flood-affected people
evacuation.

residences and farmlands by the authorities before

Ans X" 1. have been promised

J 2. were promised

X 3. are promised

25 4. will be promised

Question ID : 99836726083
Status : Answered
Chosen Option : 2

Q.24 is an important aspect in children.
Ans

X 1. The creativity
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X 2. A creativity
( 3. Creativity

X 4. Creativities

Question ID : 99836726078
Status : Answered
Chosen Option : 3

Q.25 Who among the following poets served as an apprentice to a surgeon at Edmonton —

North London before he began his poetic career?

Ans & 1S T Coleridge
X 2. Robert Browning

J 3. John Keats

/5 4.P.B. Shelly

Question ID : 99836726025
Status : Answered
Chosen Option : 1

Q.26 ‘Endymion’ a poetic romance by John Keats was published in the year

Ans X" 11808
2 1818
75 3.1820
/< 4.1800

Question ID : 99836726027
Status : Answered
Chosen Option : 3

Q.27 Choose the correct passive voice for the sentence given below.

The mason is building a wall.

Ans x 1. The wall was being built by the mason.
J 2. The wall is being built by the mason.
X 3. The wall is been built by the mason.

#< 4. The wall is being build by the mason.

Question ID : 99836726091
Status : Answered
Chosen Option : 2

Q.28 ‘Prometheus Unbound’ was a poetic drama by which of the following poets?

Ans X" 1. John Keats

X 2. Lord Byron

X 3. S. T. Coleridge

o 4. P.B. Shelly

Question ID : 99836726018
Status : Answered
Chosen Option : 2

Q.29 A magnificent pleasure palace to be built by Kubla Khan was situated on the banks of

the river.
Ans  of 1 Alph

X 2. Severn
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X 3. Thames

X 4. Avon

Question ID : 99836726007
Status : Answered
Chosen Option : 3

Q.30 A doctrine often found in English poetry which identifies God with the universe, or
regards the universe as a manifestation of God is called

Ans x 1. paganism
J 2. pantheism
X 3. polytheism
X 4. romanticism

Question ID : 99836726015
Status : Answered
Chosen Option : 2

Q.31 Jane Austen presented the story of a proud young woman who is stubborn and an
elitist also. Her name is also name of the novel.

Ans J 1. Emma
X 2. Pride and Prejudice
X 3. Persuasion

X 4. Lady Susan

Question ID : 99836726057
Status : Answered
Chosen Option : 2

Q.32 An account of the growth of a poet’s mind by Wordsworth, is maintained in his

autobiographical poem
Ans  of 1 The Prelude

#% 2. The World is too Much with Us
X 3. Sonnet on Sonnet

X 4. The Solitary Reaper

Question ID : 99836726012
Status : Answered
Chosen Option : 1

Q.33 ‘Dorian’ and ‘Pindaric’ are the types of
Ans X" 1 pallads

X 2. lyrics
X 3. sonnets
J 4. odes

found in Greek literature.

Question ID : 99836726035
Status : Answered
Chosen Option : 2

Q.34 The gathering felt silent
Ans X" 1_until the leader spoke

J 2. as the leader spoke

X 3. till the leader spoke
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X 4. since the leader spoke

Question ID : 99836726087
Status : Answered
Chosen Option : 1

Q.35 , an Indian author of British descent with a distinguishing fact of his career,
wrote his first novel, ‘The Room on the Roof’ when he was only seventeen and won
the John Llewellyn Rhys Memorial Prize in 1957.

Ans  off 1. Ruskin Bond
X 2. R. K. Narayan
X 3. Padma Lakshmi

X 4. Khushwant Singh

Question ID : 99836726073
Status : Answered
Chosen Option : 1

Q.36 The Greeks followed three unities in their plays namely, time, place and
Ans J 1. action

X 2. character
X 3. script
X 4. morality

Question ID : 99836726043
Status : Answered
Chosen Option : 3

Q.37 Who was the Indian Jewish poet who was awarded the Sahitya Akademi in 1983 and
Padmashri in 1988 for his literary achievements?

Ans x 1. Khushwant Singh
o 2. Nissim Ezekiel
/% 3. Salman Rushdie

75 4. Mulk Raj Anand

Question ID : 99836726074
Status : Answered
Chosen Option : 2

Q.38 is the Queen of Denmark and mother of Prince Hamlet.
Ans & 1 Portia

J 2. Gertrude
#% 3. Ophelia

X 4. Rosalind

Question ID : 99836726062
Status : Answered
Chosen Option : 4

Q.39 Each day is your opportunity to make progress in imperfect world where
things often go wrong.

Ans 5 1 the
o 2. an
/5 3. that
X 4.a
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Question ID : 99836726077
Status : Answered
Chosen Option : 3

Q.40 John Milton’s ‘Lycidas’ and Matthew Arnold’s ‘Thyrsis’ are examples of

Ans X 1 a satire

J 2. a pastoral elegy

25 3.aidyll

x 4. an elegy

Question ID : 99836726038
Status : Answered
Chosen Option : 4

Q.41 | have not been well
Ans

X 1. lately | returned from Delhi
X 2. now | returned from Delhi
x 3. when | returned from Delhi

J 4. since | returned from Delhi

Question ID : 99836726086
Status : Answered
Chosen Option : 4

Q.42 Who among the following Indian writers was the first recipient of Sahitya Akademi

Ans

Award for English Fiction?
J 1. R. K. Narayan
x 2. Mahasweta Devi
#< 3. Vikram Seth

7% 4. Rabindranath Tagore

Question ID : 99836726068
Status : Answered
Chosen Option : 1

Q.43 A ‘Farce’ is an exaggerated form of which of the following?

Ans  of 1 Comedy

x 2. Tragi-Comedy

X 3. Romance

x 4. Tragedy

Question ID : 99836726044
Status : Answered
Chosen Option : 4

Q.44 you lend me your mobile phone, please?
Ans

5 1. Must
25 2. should
W 3. Would
/5 4.Can

Question ID : 99836726090
Status : Answered
Chosen Option : 4
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Q.45 ‘Lyre’ after which lyric (primarily a song), is actually
Ans X" 1 astanza type

X 2. an arrangement of tune
( 3. a musical instrument

x 4. a musical composition

Question ID : 99836726034
Status : Answered
Chosen Option : 3

Q.46 by Vikram Seth is based on Charles Johnston’s translation of Aleksander
Pushkin’s Eugene Onegin (1833).

Ans x 1. From Heaven Lake
J 2. The Golden Gate
#% 3. All You Who Sleep Tonight
75 4. A Suitable Boy

Question ID : 99836726072
Status : Answered
Chosen Option : 2

Q.47 Who among the following poets chose his own epitaph, “here lies one whose name
was writ in water”?

Ans x 1. Dorothy Wordsworth
Z% 2. Emily Dickinson
/< 3. William Blake

J 4. John Keats

Question ID : 99836726026
Status : Answered
Chosen Option : 3

Q.48 Choose the correct passive voice for the sentence given below.

Why did your uncle write such a speech?

Ans x 1. Why was such a speech write by your uncle?

( 2. Why was such a speech written by your uncle?
x 3. Why such a speech written by your uncle?

X 4. Why should be such a speech written by your uncle?

Question ID : 99836726093
Status : Answered
Chosen Option : 2

Q.49 “l have loved the principles of beauty in all things.” Which of the following poets wrote
this?

Ans X" 1 E. A Poe
x 2. Lord Byron
X 3. Robert Southey

J 4. John Keats

Question ID : 99836726029
Status : Answered
Chosen Option : 2
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Q.50 Henry James has described a story of wealthy, cultured Americans living in Europe in

Ans

which of the following novels?

o 1. The Golden Bowl

X 2. The Turn of the Screw

X 3. The Portrait of a Lady

X 4. The Ambassadors

Question ID : 99836726060
Status : Answered
Chosen Option : 1

Q.51 A person who seeks to convert others to the Christian faith, especially by public

Ans

preaching is known as

x 1. a bishop
X 2. aclerk
J 3. an evangelist

X 4. a father

Question ID : 99836726011
Status : Answered
Chosen Option : 1

Q.52 ‘Frankenstein’, a gothic romance was written by

Ans

X 1. Jane Eyre

X 2. Horace Walpole
X 3.R. L. Stevenson

o 4. Mary Shelly

Question ID : 99836726059
Status : Answered
Chosen Option : 3

Q.53
Ans

, @ comic character by William Shakespeare, is found in more than one of plays.

£ 1. Ariel
X 2. Antonio

X 3. Claudius

o 4. Sir John Falstaff

Question ID : 99836726065
Status : Answered
Chosen Option : 3

Q.54 It was an unfortunate day for him to see the Sensex

Ans

X 1. is ending
X 2. ended
( 3. ending

X 4. was ending

with much lower points.

Question ID : 99836726082
Status : Answered
Chosen Option : 3

Q.55 ‘La Belle Dame sans Merci’ is a poem depicting love between a knight and a fairy. The

Ans

poem is written by
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#5 1. Emily Dickinson
/< 2.E.A Poe

X 3. Robert Southey
J 4. John Keats

Question ID : 99836726032
Status : Answered
Chosen Option : 4

Q.56 R. K. Narayan’s fictional village Malgudi is situated in
Ans ( 1. Mysore (Mysuru)

#5 2. Chandigarh

x 3. Bangalore
x 4. Chennai

Question ID : 99836726070
Status : Answered
Chosen Option : 1

Q.57 In the year 2000, which of the following novels by Anita Desai was chosen for the
Booker Prize?

Ans X" 1_Clear Light of Day
X 2. In Custody
( 3. Fasting and Feasting

X 4. Cry, the Peacock

Question ID : 99836726069
Status : Answered
Chosen Option : 4

Q.58 The death of John Keats was commemorated by Shelly in his elegy
Ans ( 1. Adonais

x 2. Lycidas
/< 3. Epitaph

X 4. Elegy Written in a Country Churchyard

Question ID : 99836726020
Status : Answered
Chosen Option : 3

Q.59 The baby
Ans  of 1 willbe

x 2. may be
X 3. must be
&K 4

five next birthday.

Question ID : 99836726089
Status : Answered
Chosen Option : 1

Q.60 ‘Lyrical ballads’ was published in the year
Ans " 11898

W 21798
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/< 3.1789
/< 4.1889

Question ID : 99836726005
Status : Answered
Chosen Option : 2

Q.61 Moby Dick or The Whale by Herman Melville, published in 1851, is
Ans x 1. an essay

J 2. anovel

X 3. along poem

X 4. adrama

Question ID : 99836726067
Status : Answered
Chosen Option : 3

Q.62 The period of Renaissance in Europe was an enthusiastic period of European cultural,
artistic, political and economic rebirth during which of the following centuries?

Ans X" 1. 12th - 15th century
J 2. 14th - 17th century
#% 3.10th - 12th century

75 4. 14th - 16th century

Question ID : 99836726037
Status : Answered
Chosen Option : 2

Q.63 The lyrical drama ‘Hellas’ written by P. B. Shelly was basically inspired by which of the
following events?

Ans J 1. The Greek war of liberation
X 2. The first crusade
X 3. The hundred years’ war

X 4. The German peasant’s war

Question ID : 99836726021
Status : Answered
Chosen Option : 1

Q.64 The word ‘blithe’ in English poetry suggests which of the following meanings?
Ans J 1. Happiness

X 2. Valour
#5 3. Pain

X 4. Disappointment

Question ID : 99836726017
Status : Answered
Chosen Option : 3

Q.65 ‘The Autobiography of an Unknown Indian’ is written by .
Ans x 1. Shashi Tharoor

X 2. R. K. Narayan
#% 3. Mulk Raj Anand

o 4. Nirad C Chaudhari
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Question ID : 99836726071
Status : Answered
Chosen Option : 2

Q.66 A debased form of tragedy is known as
Ans J 1. melodrama

x 2. travesty
x 3. farce
x 4. masque

Question ID : 99836726045
Status : Answered
Chosen Option : 1

Q.67 Who among the following said that in his early life, he was fostered by two influences,
beauty and fear?

Ans X" 1 W.B. Yeats
o 2. william Wordsworth
x 3. Alfred Tennyson
x 4. John Donne

Question ID : 99836726013
Status : Answered
Chosen Option : 4

Q.68 “We look before and after,
And pine for what is not,
Our sincerest laughter
With some pain is fraught
Our sweetest songs are those that tell us of the saddest thought.”

These poetic lines occur in which of the poems by Shelly?
Ans " 1. The Cloud

x 2. Love’s Philosophy
o 3. To a Skylark
x 4. Mont Blanc

Question ID : 99836726023
Status : Answered
Chosen Option : 2

Q.69 Fill in the blanks with appropriate tenses in the sentences given below.

This year, the monsoon in India weakened by El Nino.
Ans  of 1 hasbeen

K 2s
5 3. will be
x 4. was

Question ID : 99836726081
Status : Answered
Chosen Option : 2

Q.70 In English literature, miracles (plays) dealt with the lives of saints and mysteries with
some themes taken from .

Ans  of 1 the bible

x 2. the odyssey
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x 3. the theology

< 4. the iliad

Question ID : 99836726047
Status : Answered
Chosen Option : 2

Q.71 The doctor always comes

Ans J 1. whenever he is requested
X 2. while he is requested
x 3. often when requested

X 4. sometimes he is requested

Question ID : 99836726085
Status : Answered
Chosen Option : 1

Q.72 ‘East of Eden’ a novel published in 1952, was written by .

Ans " 1. William Faulkner
o 2. John Steinbeck
X 3. James Cooper
75 4. Emily Dickinson

Question ID : 99836726056
Status : Answered
Chosen Option : 1

Q.73 One of the best dramas ever written by William Shakespeare, known as the darkest of

the dark comedy is

Ans  off 1. Measure for Measure
5 2. Twelfth Night
75 3. As You Like It

x 4. The Merchant of Venice

Question ID : 99836726066
Status : Answered
Chosen Option : 2

Q.74 “One impulse from a vernal wood
May teach you more of man,
Of moral evil and of good
Than all the sages can.”

This was written by in his poem ‘The Tables Turned’.
Ans X" 1. Charlotte Smith

#5 2. Mary Robinson
< 3. William Blake

W 4. William Wordsworth

Question ID : 99836726010
Status : Answered
Chosen Option : 3

Q.75 ‘Athwart’ is a poetic word that suggests which of the following meanings in poetry?

Ans x 1. Far
x 2. Around
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x 3. Near
J4.Across

Question ID : 99836726008
Status : Answered
Chosen Option : 2

Q.76 For which of the following poets is nature both law and impulse?
Ans x 1. Matthew Arnold

x 2. John Keats
o 3. William Wordsworth

75 4.S.T. Coleridge

Question ID : 99836726009
Status : Answered
Chosen Option : 2

Q.77 ‘Rosalind’ the central female character, appears in which of the following
Shakespearean plays?

Ans & 1. Cymbeline
o 2. As You Like It
x 3. The Tempest
x 4. Romeo and Juliet

Question ID : 99836726052
Status : Answered
Chosen Option : 2

Q.78 Themes of social class, poverty and crime with ‘Pip’ as the main character is found in
which of the following novels by Charles Dickens?

Ans X" 1. Hard Times
£5 2. Oliver Twist
J 3. Great Expectations

#% 4. The Pickwick Papers

Question ID : 99836726061
Status : Answered
Chosen Option : 3

Q.79 Choose the correct determiners/phrase to fill in the blanks in the following sentences.

It is seen cricketers sometimes question the rules framed by ICC.

Ans  of 1 that
5 2. mostly
5 3. this
x 4. always

Question ID : 99836726076
Status : Answered
Chosen Option : 1

Q.80 “O blessed Bird! The earth we pace
Again appears to be
An unsubstantial, faery place;
That is fit have for thee.”

This description by Wordsworth is about which of the following birds?
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Ans & 1 Owl
#5 2. Nightingale
5 3. Skylark

J 4. Cuckoo

Question ID : 99836726016
Status : Answered
Chosen Option : 2

Q.81 ‘All’'s Well that Ends Well’ is a romantic comedy by .
Ans o 1 Wiliam Shakespeare

X 2. Ben Johnson
x 3. John Fletcher

X 4. Christopher Marlowe

Question ID : 99836726051
Status : Answered
Chosen Option : 1

Q.82 “The addition of curiosity to the desire of beauty” was romanticism in English
literature. It was defined by

Ans X 1.Dr. Johnson
X 2. Ben Johnson
J 3. Walter Pater

X 4. Legouis Cazamian

Question ID : 99836726040
Status : Answered
Chosen Option : 4

Q.83 ‘Art exists for the sake of its beauty alone, and that it need serve no political, didactic,
or other purpose’. This is an exclusive feature of which of the following movements?

Ans & 1. Impressionism
X 2. Imagism
#% 3. Didacticism

J 4. Aestheticism

Question ID : 99836726041
Status : Answered
Chosen Option : 2

Q.84 As a poet, contributed a new quality to English Literature — a quality of ideality,
freedom and spiritual audacity.

Ans " 1. George Herbert
o 2.P.B. Shelly
5 3. G. M. Hopkins

X 4. Robert Frost

Question ID : 99836726022
Status : Answered
Chosen Option : 2

Q.85 ‘The Comedy of Errors’ by Shakespeare, has which of the following plots/stories?
Ans J 1. Twin brothers
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x 2. Hero and villain
x 3. Two sisters

X 4. King and queen

Question ID : 99836726053
Status : Answered
Chosen Option : 1

Q.86 It was Edward Marsh who coined the term in the 20th century.
Ans J 1. Georgian
#5 2. Victorian

X 3. Decadent
X 4. Modernist

Question ID : 99836726042
Status : Answered
Chosen Option : 1

Q.87 Who among the following is known as the Father of English Poetry?
Ans X 1 Petrarch

X 2. Matthew Arnold
X 3. Robert Browning
J 4. Geoffrey Chaucer

Question ID : 99836726046
Status : Answered
Chosen Option : 3

Q.88 The word ‘beseech’ in old English poetry has which of following meanings?
Ans x 1. To call swiftly

X 2. To expel someone

J 3. To ask urgently

X 4. To attack someone

Question ID : 99836726050
Status : Answered
Chosen Option : 1

Q.89 ‘Alexandrine’ a line of six iambic feet is found in which of the following stanza types in
English poetry?

Ans J 1. Spenserian stanza
X 2. Terzarima
x 3. Heroic couplet

X 4. Rhyme royal

Question ID : 99836726039
Status : Answered
Chosen Option : 4

Q.90 Which of the following poets propagated an idealistic but impracticable scheme called
‘Pantisocracy’, in the early years?

Ans & 1 Lord Byron

/5 2. Shelly

J 3. S. T. Coleridge
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£5 4. John Milton

Question ID : 99836726004
Status : Answered
Chosen Option : 3
Q.91 Choose the correct active voice for the sentence given below.
Some people were refused admittance by the security personnel.
Ans x 1. The security personnel refuse admittance to some people.
x 2. Security personnel refused admittance to some people.
x 3. The security personnel refused admittance by some people.
« 4. The security personnel refused admittance to some people.
Question ID : 99836726094
Status : Answered
Chosen Option : 1
Q.92 Choose the correct passive voice for the sentence given below.
The students will complete the assignment within an hour.
Ans x 1. The assignment will be complete by the students within an hour.
x 2. The assignment should be completed by the students within an hour.
« 3. The assignment will be completed by the students within an hour.
x 4. The assignment would be completed by the students within an hour.
Question ID : 99836726092
Status : Answered
Chosen Option : 3
Comprehension:
Read the passage carefully and answer the following questions:
It doesn’t appear to be a matter of surprise that a few states have extreme flood-hit situations
and some wait for the monsoons. If this is all because of global warming worldwide, then it is
true also to a greater extent. But there is also a reason which generally men fear to express.
The reason is explicit, the ignorance about WANT and DESIRE. In a country like India where
natural resources are plentiful, the imbalance occurs almost every year. The fact is that
requirements are limited for survival but the wishes of mankind are unlimited. The continuous,
hasty and unlawful use of every natural resource has brought this misfortune on us. The
developed countries are the first culprits for this non-judicious use of the elixir of life and
destruction of natural forests and greenbelts. The developing countries have followed the suit;
but the monster of pollution and scarcity of other resources is uncontrollable. Though it is
beyond control now, there is a silver lining to know one’s own mistakes and have remedies to
it. Perhaps that may save all of us.
SubQuestion No : 93
Q.93 The meaning of the phrase ‘elixir of life’ in this passage means:
Ans ( 1. water
X 2. flora and fauna
x 3. forests
X 4. oxygen
Question ID : 99836726099
Status : Answered
Chosen Option : 2

Comprehension:
Read the passage carefully and answer the following questions:
It doesn’t appear to be a matter of surprise that a few states have extreme flood-hit situations

and some wait for the monsoons. If this is all because of global warming worldwide, then it is
true also to a greater extent. But there is also a reason which generally men fear to express.
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Q.94

The reason is explicit, the ignorance about WANT and DESIRE. In a country like India where
natural resources are plentiful, the imbalance occurs almost every year. The fact is that
requirements are limited for survival but the wishes of mankind are unlimited. The continuous,
hasty and unlawful use of every natural resource has brought this misfortune on us. The
developed countries are the first culprits for this non-judicious use of the elixir of life and
destruction of natural forests and greenbelts. The developing countries have followed the suit;
but the monster of pollution and scarcity of other resources is uncontrollable. Though it is
beyond control now, there is a silver lining to know one’s own mistakes and have remedies to
it. Perhaps that may save all of us.

SubQuestion No : 94
According to the author, the primary remedy for the misfortune of mankind is to:

X 1. save water
( 2. create knowledge
x 3. plant more trees

x 4. control the weather

Question ID

Chosen Option :

1 99836726100
: Answered
3

Q.95

Comprehension:

Read the passage carefully and answer the following questions:

It doesn’t appear to be a matter of surprise that a few states have extreme flood-hit situations
and some wait for the monsoons. If this is all because of global warming worldwide, then it is
true also to a greater extent. But there is also a reason which generally men fear to express.
The reason is explicit, the ignorance about WANT and DESIRE. In a country like India where
natural resources are plentiful, the imbalance occurs almost every year. The fact is that
requirements are limited for survival but the wishes of mankind are unlimited. The continuous,
hasty and unlawful use of every natural resource has brought this misfortune on us. The
developed countries are the first culprits for this non-judicious use of the elixir of life and
destruction of natural forests and greenbelts. The developing countries have followed the suit;
but the monster of pollution and scarcity of other resources is uncontrollable. Though it is
beyond control now, there is a silver lining to know one’s own mistakes and have remedies to
it. Perhaps that may save all of us.

SubQuestion No : 95
What does the author want to convey about ‘surprise’ in the passage?

#5 1. The flood hit situations
{ 2. Flood and drought together
x 3. The drought

x 4. Monsoons

Question ID

Chosen Option :

1 99836726097
: Answered
2

Q.96
Ans

Comprehension:
Read the passage carefully and answer the following questions:

It doesn’t appear to be a matter of surprise that a few states have extreme flood-hit situations
and some wait for the monsoons. If this is all because of global warming worldwide, then it is
true also to a greater extent. But there is also a reason which generally men fear to express.
The reason is explicit, the ignorance about WANT and DESIRE. In a country like India where
natural resources are plentiful, the imbalance occurs almost every year. The fact is that
requirements are limited for survival but the wishes of mankind are unlimited. The continuous,
hasty and unlawful use of every natural resource has brought this misfortune on us. The
developed countries are the first culprits for this non-judicious use of the elixir of life and
destruction of natural forests and greenbelts. The developing countries have followed the suit;
but the monster of pollution and scarcity of other resources is uncontrollable. Though it is
beyond control now, there is a silver lining to know one’s own mistakes and have remedies to
it. Perhaps that may save all of us.

SubQuestion No : 96
What is the meaning of the word ‘explicit’?

x 1. Assumption

X 2. Estimation
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« 3. Obvious

x 4. Presumption

Question ID : 99836726098
Status : Answered
Chosen Option : 1

Comprehension:
Read the following passage and answer the questions given below:

A few years ago, we often talked about an age of technology that has surrounded us.

Computers and modern means of communication have brought in an unsurpassable change
in human life. Every next day technology of common kind is available at cheaper rates and we

are using it every day. It is today that we have pushed ourselves into the age of artificial
intelligence where human emotions are captured by smart devices and preferences are

setin

a moment. Right from a simple thought of having a cup of tea, taking a warm water shower or

listening to favourite songs do not need human intervention. Thoughts are automatically

transmitted to a core device that further operates on other gadgets and machines. Alexa, a

voice-controlled intelligent personal assistant service has changed our lifestyle. Sophia i
social robot that uses Al to see people, understand conversations and even form
relationships. Moreover, it has the ability to learn from one experience and apply that
knowledge to new situations. It is the similar way what humans learn to do in their life. It
seems that that day will not be far when technology and robots will be able to govern hu
life completely. The debate is unending.

SubQuestion No : 97

Q.97 What do you understand by Al in the context of the passage?

Ans

x 1. Active Interests
5 2. Artificial intellect
x 3. Assisted Inferences

of 4. Artificial Intelligence

sa

man

Question ID : 99836726104
Status : Answered
Chosen Option : 4

Comprehension:
Read the following passage and answer the questions given below:

A few years ago, we often talked about an age of technology that has surrounded us.

Computers and modern means of communication have brought in an unsurpassable change
in human life. Every next day technology of common kind is available at cheaper rates and we

are using it every day. It is today that we have pushed ourselves into the age of artificial
intelligence where human emotions are captured by smart devices and preferences are

setin

a moment. Right from a simple thought of having a cup of tea, taking a warm water shower or

listening to favourite songs do not need human intervention. Thoughts are automatically

transmitted to a core device that further operates on other gadgets and machines. Alexa, a

voice-controlled intelligent personal assistant service has changed our lifestyle. Sophia i
social robot that uses Al to see people, understand conversations and even form
relationships. Moreover, it has the ability to learn from one experience and apply that
knowledge to new situations. It is the similar way what humans learn to do in their life. It
seems that that day will not be far when technology and robots will be able to govern hu
life completely. The debate is unending.

SubQuestion No : 98

Q.98 What does the author indicate when he says that ‘technology is cheaper’?

Ans

« 1. ltis continually growing
5 2. Itis bought with high price
x 3. Itis common

x 4. Itis available for free

sa

man

Question ID : 99836726103
Status : Answered
Chosen Option : 1

Comprehension:
Read the following passage and answer the questions given below:
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A few years ago, we often talked about an age of technology that has surrounded us.
Computers and modern means of communication have brought in an unsurpassable change
in human life. Every next day technology of common kind is available at cheaper rates and we
are using it every day. It is today that we have pushed ourselves into the age of artificial
intelligence where human emotions are captured by smart devices and preferences are set in
a moment. Right from a simple thought of having a cup of tea, taking a warm water shower or
listening to favourite songs do not need human intervention. Thoughts are automatically
transmitted to a core device that further operates on other gadgets and machines. Alexa, a
voice-controlled intelligent personal assistant service has changed our lifestyle. Sophia is a
social robot that uses Al to see people, understand conversations and even form
relationships. Moreover, it has the ability to learn from one experience and apply that
knowledge to new situations. It is the similar way what humans learn to do in their life. It
seems that that day will not be far when technology and robots will be able to govern human
life completely. The debate is unending.

SubQuestion No : 99
Q.99 What is the meaning of ‘unsurpassable’ in the passage?

Ans " 1. Frequent

5 2. Ubiquitous

J 3. Peerless

x 4. Common

Question ID : 99836726102
Status : Answered
Chosen Option : 2

Comprehension:
Read the following passage and answer the questions given below:

A few years ago, we often talked about an age of technology that has surrounded us.
Computers and modern means of communication have brought in an unsurpassable change
in human life. Every next day technology of common kind is available at cheaper rates and we
are using it every day. It is today that we have pushed ourselves into the age of artificial
intelligence where human emotions are captured by smart devices and preferences are set in
a moment. Right from a simple thought of having a cup of tea, taking a warm water shower or
listening to favourite songs do not need human intervention. Thoughts are automatically
transmitted to a core device that further operates on other gadgets and machines. Alexa, a
voice-controlled intelligent personal assistant service has changed our lifestyle. Sophia is a
social robot that uses Al to see people, understand conversations and even form
relationships. Moreover, it has the ability to learn from one experience and apply that
knowledge to new situations. It is the similar way what humans learn to do in their life. It
seems that that day will not be far when technology and robots will be able to govern human
life completely. The debate is unending.

SubQuestion No : 100
Q.100 What ability of robots does the author talk about?

Ans  of 1 Ability to learn
x 2. Ability to calculate numerical operations
X 3. Ability to make tea and do household chores

X 4. Ability to take decisions

Question ID : 99836726105
Status : Answered
Chosen Option : 1

Section : Language Competency Test

Q.1  Fill in the blank with the most appropriate antonym of the underlined word in the sentence:
He gets regular promotions because he is industrious but his brother is so and unwilling to work.

Ans 5 1. energetic

/< 2. prompt
/< 3. insolent
« 4 indolent

Question ID : 99836726120
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Status : Answered
Chosen Option : 1

Q2 Tdentify the segment in the sentence which contains the grammatical error:

It is me who scored the winning goal in the match.

Ans X 1. who scored
< 2. in the match
W 3. It is me
/< 4. the winning goal

Question ID : 99836726110
Status : Answered
Chosen Option : 3

stir up a hornet’s nest
Ans  of 1. to cause trouble
/< 2. to spoil the show

75 3. to be scared
75 4. to be restless

Question ID : 99836726106
Status : Answered
Chosen Option : 2

Q4 Select the correctly spelt word:

Ans X 1. banevoilent

7< 2. beneviolent
7% 3. banevolent

+ 4 benevolent

Question ID : 99836726107
Status : Answered
Chosen Option : 4

Q5 Select the correct passive form of the sentence:

The children are building a tree house.
Ans 5 1. A tree house have been build by the children.
/< 2. A tree house was built by the children.
« 3. Atree house is being built by the children.
/< 4. Atree house are being build by the children.

Question ID : 99836726113
Status : Answered
Chosen Option : 3

@3 Select the most appropriate meaning of the given idiom:

Q.6  gelect the correct sentence structure:
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Ans x 1.
The net cast his fisherman hoping for a good catch into the river.
&2
The fisherman cast the river into his net hoping for a good catch.
5 3.
The river cast his net into the fisherman a good catch for hoping.
v
The fisherman cast his net into the river hoping for a good catch.
Question ID : 99836726116
Status : Answered
Chosen Option : 4
Q7 Select the most appropriate synonym of the given word:
EARNEST
Ans X 1. facetious
75 2. clumsy
v 3 solemn
75 4. jocular
Question ID : 99836726118
Status : Answered
Chosen Option : 3
Q8 Fill in the blank with the most appropriate word:
You must study in depth. Knowledge will not fetch you a good result.
Ans 3¢ 1. Superposed
/< 2. Superseding
/< 3. Superfluous
« 4 Superficial
Question ID : 99836726108
Status : Answered
Chosen Option : 1
Q9 Select the correct sentence structure:
Ans ¢ 1. A triangle which has sides three is called a polygon.
/< 2. Atriangle is called a polygon which has three sides.
/< 3. A three sides has triangle which is called a polygon.
+ 4 A polygon which has three sides is called a triangle.
Question ID : 99836726115
Status : Answered
Chosen Option : 4
Q10 gelect the correct sentence structure:
Ans

F 8
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The children are laying the table when mother cooked dinner.
7< 2. The children laid the table when mother is cooking dinner.
X 3.

The table was laid by children while mother is cooking dinner.

W

The children laid the table while mother was cooking dinner.

Question ID : 99836726117
Status : Answered
Chosen Option : 4

Q1 Select the most appropriate option to fill in the blank.

She topped the school in the board exams, 7
Ans  of 1. didn’t she

/2 did she

#< 3. has she

#< 4. hasn’t she

Question ID : 99836726114
Status : Answered
Chosen Option : 1

Q12 Fj|| in the blank with the most appropriate word:

You must on your expenses if you want to live within vour means.

Ans 1. cutup

75 2. cut off
v 3 cut down
/< 4. cut out

Question ID : 99836726109
Status : Answered
Chosen Option : 3

Q.13 Select the alternative that will improve the underlined part of the sentence. In case there is no improvement, select No

improvement’

The shopkeeper gave me a tore ten-rupees note.

Ans  of' 1. atorn ten-rupee note.
/< 2. No improvement
/< 3. a torn ten-rupees note.

/< 4. atored ten-rupees note

Question ID : 99836726111
Status : Answered
Chosen Option : 3

Q.14


https://aview.in/
https://aview.in/category/previous-papers/

Select the most appropriate synonym of the given word:

LOATHE
/< 1. praise
v 2. hate
#< 3. hurt
< 4 love

Ans

Question ID : 99836726119
Status : Answered
Chosen Option : 2

Q15 Select the most appropriate direct speech of the given sentence:

Suman told me that my mother was waiting for me at the gate.

Ans x1_

Suman said to me.” My mother is waiting for you at the gate.”

2

Suman said to me,” Your mother is waiting for you at the gate.”

X 3.

Suman said to me.” Your mother waited for you at the gate.”

F

Suman said to me,” Your mother was waiting for me at the gate.”

Question ID : 99836726112
Status : Answered
Chosen Option : 2

O rafafEa & ¥ Fa veug # 3erEor 7 &
e

X 2 ggrE

Vo

X4 oISy

Question ID : 99836726127
Status : Answered
Chosen Option : 3

U g aee BrEeT o 32
Ans x1_g:|-|;|-

X 5=
X5 fre
o o BeATT

Question ID : 99836726132
Status : Answered
Chosen Option : 2
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X5 FEr + e

X4 A + HEE

Question ID : 99836726128
Status : Answered
Chosen Option : 1

4 Fellowship’ 1 f&=dr 7T &
Ans x 1. qﬁm

v e

X 5. AgATET

X4 HTRTEeT

Question ID : 99836726122
Status : Answered
Chosen Option : 2

az0 frrafafea & @ 9o & @@ goa a8 &
AN X1 ey . Y

X2 gl - gfaw

v i - m

X 4. o - HET

Question ID : 99836726133
Status : Answered
Chosen Option : 3

O mafr ST FT e At fewl T R TR @ 20
Ans X TRsr G

X 2 3 T

v 3 T T

X o GYFT T

Question ID : 99836726129
Status : Answered
Chosen Option : 3

Q'ZZ‘EETEFI' < fﬂﬁ'%:
Ans x1?ﬂ-
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Question ID : 99836726134
Status : Answered
Chosen Option : 4

O Tt T HreTer WA HeR F AT &

Ans x1ﬁﬂ Eﬂ?“_

X 2 @ o 1T
Vs gl Al T o

Ko TER F A AT @ ST

Question ID : 99836726125
Status : Answered
Chosen Option : 3

Q.24‘.[-_-.,r,ﬁ ﬁf%‘?

Ans x1_ m
X2 UeF
X 3 T
v gafaE

Question ID : 99836726135
Status : Answered
Chosen Option : 2

A% Ex-officio’ @ fa=dr 5T &

ms o afdad
v o FfgaEr
X 3 gfgEtaa
X 4 HeaRdr

=

Question ID : 99836726121
Status : Answered
Chosen Option : 1

TR YR A e ARt

Ans xm aga;
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Question ID : 99836726131
Status : Answered
Chosen Option : 4

O o T TET B AT TR YRR G 27

Ane X 1. RremaRae
X 2 T
K3 geTEATdS
v i g

Question ID : 99836726130
Status : Answered
Chosen Option : 1

0% oz @ o AT Y
Ans x1_ m-r

=

v 2 gder
<3 geer

< 4 &

Question ID : 99836726124
Status : Answered
Chosen Option : 2

O iy oz F FiFar sUmeEr 32
Ans (1_ aTeT:

X2 3R

N3 H

X< 4 e

Question ID : 99836726126
Status : Answered
Chosen Option : 2

Q.30 ‘EI?I"EI?«:."EHH!’I}FF%%“
Ans (1ﬂ

/5 2. 8907

X3 §HT

24 Ter

Question ID : 99836726123
Status : Answered
Chosen Option : 1
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